(AUB)* =A4°NB°

(ANB) =4°UB°

n(AUB) =n(A)+n(B)—n(AN B)
n=n-(n-1)-(n-2)-...-3-2-1
0l'=1

n!
(n—r)!

P(n,r)=

n!

Clnr)= rl(n—r)!

P(EUF)=P(E)+P(F)- P(ENF)
P(E®)=1-P(E)

_n(E)
P(E) =2
P(B|A)=P(;—Q)B)

P(AB)=P(A)-P(B| A)
P(ANB) = P(A)- P(B) for A and B independent.

P(4) P(E|A)+..+ P(4,) P(E| 4)
where 1 <i<n.

E(X)=x,p, +x,p, +...4+Xx,p,

Var(X) = p,(x, — )’ + p,(x, — 1)’ + ..+ p, (x, — )’

o = Var(X)

P(E)
P(E°)

P(E°)

P(E)
a

P(E) = a+b

P(,u—kO'SXS,uija)Zl—kL2

P(X =x)=C(n,x)p"q""

p+qg=1
p=np
Var(x) = npq

O =/ hnpq

P(Z < 2) :%[1+P(—Z<Z <z)]

P(X>a)=P(Z>a_ﬂj
(2

P(X<b):P(Z<b_’uj
(o2

P(a<X<b):P(a_’u<Z<b_’uj
O (o2



